EP00462 / F

Material

No. Plan Article Quantity
1 Y019204 1782354 1

2 YP08073 2606254 1

3 YP08074 2606354 1

4 P00030024 2606054 2

5 Top Case W201138 1

|6 P00025186 GP27600 2

| * X005150 1788100 2

|7 M8x60 1900809 4

8 |- - -

9 M8x12 1008963 2

10 M8x25 DIN912 1990501 2

11 Washer M8 1003199 4

12 Nut M8 1001682 2

13 M6x30 DIN7984 1992721 2

14 M6x20 1006999 4

15 Washer M6 1997328 4

16 Nut M6 1001680 6

17 Tube cap ©22 1990648 2

18 Washer M8 1001556 2

* - use with frame extender EP00497
TOP CASE SE27 TURIOS Plan No.
EP00462/ F
Scale: 1:6 Drafted Verified Confirmed
Date 14/02/2020 | 11/09/2024 | 11/09/2024
Initials PM DR MK




